HAL
open science

On the number of renewals in random time<br>Edward Omey, Georgi K. Mitov, Kosto V. Mitov

## To cite this version:

Edward Omey, Georgi K. Mitov, Kosto V. Mitov. On the number of renewals in random time.
Statistics and Probability Letters, 2009, 79 (21), pp.2281. 10.1016/j.spl.2009.08.001 . hal-00582596

HAL Id: hal-00582596
https://hal.science/hal-00582596
Submitted on 2 Apr 2011

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire HAL, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

## Accepted Manuscript

On the number of renewals in random time

Edward Omey, Georgi K. Mitov, Kosto V. Mitov
PII: $\quad$ S0167-7152(09)00290-9
DOI: 10.1016/j.spl.2009.08.001
Reference: STAPRO 5488

To appear in: Statistics and Probability Letters
Received date: 6 April 2009
Revised date: 31 July 2009
Accepted date: 3 August 2009

Please cite this article as: Omey, E., Mitov, G.K., Mitov, K.V., On the number of renewals in random time. Statistics and Probability Letters (2009), doi:10.1016/j.spl.2009.08.001

This is a PDF file of an unedited manuscript that has been accepted for publication. As a service to our customers we are providing this early version of the manuscript. The manuscript will undergo copyediting, typesetting, and review of the resulting proof before it is published in its final form. Please note that during the production process errors may be discovered which could affect the content, and all legal disclaimers that apply to the journal pertain.

# On the Number of Renewals in Random Time 

Edward Omey ${ }^{\text {a }}$ Georgi K. Mitov ${ }^{\text {b }}$ Kosto V. Mitov ${ }^{\text {c,* }}$<br>${ }^{a}$ HUB-EHSAL, Stormstraat 2, 1000 Brussels - Belgium. E-mail: edward.omey@hubrussel.be<br>${ }^{\mathrm{b}}$ Institute of Mathematics and Informatics, Bulgarian Academy of Science, Acad.<br>G. Bonchev str., Bl. 8, 1113, Sofia, Bulgaria. E-mail:<br>georgi.mitov@finanalytica.com<br>${ }^{\text {c }}$ Aviation Faculty - NMU, 5856 D.Mitropolia, Pleven, Bulgaria. E-mail: kmitov@af-acad.bg


#### Abstract

For the renewal counting process $M(t)=\min \left\{k: S_{k}>t\right\}$ and the independent of it nonnegative random variable $T$ we investigate the asymptotic behaviour of $P(M(t)<T)$ and $P(M(t) \leq K(t) x \mid M(t)<T)$ in case when the interarrival times have an infinite mean. These quantities appear in a natural way when considering limiting behaviour of random time changed branching processes and shock models.


Key words: regular variation, (weighted) renewal theory, domains of attraction, shock models, branching processes.
AMS (2000) Subject Classification: 60K05, 60K99.

## 1 Introduction

Consider the discrete time stochastic process $\mathbf{Z}=\{Z(n), 0 \leq n<T\}$ where the random variable $T$ is a positive integer valued. The variable $T$ is called the life period of the process. In fact, the process evolves during the life period $T$ and then dies out.

Consider also, an independent of $\mathbf{Z}$, sequence of nonnegative i.i.d. random variables $\mathbf{X}=\left\{X_{1}, X_{2}, \ldots\right\}$ with distribution function (d.f.) $F(x)$. Let $S_{0}=0$ and for $n \geq 1$, let $S_{n}=X_{1}+X_{2}+\ldots+X_{n}$. Define the renewal counting process

$$
M(t)=\min \left\{k: S_{k}>t\right\}
$$

[^0]Using these two processes one can define a new process $\xi(t)$ as follows:

$$
\xi(t)=Z(M(t)), 0 \leq M(t)<T, t \geq 0 .
$$

Clearly the subordinated process has a lifetime depending on $T$ and $M(t)$.
In the present paper we are interested in the following problems.
Q1. What is the life period of the subordinated process? To this end we shall determine the probability of the event

$$
\{\xi(t) \text { is alive at time } t\}=\{M(t)<T\} .
$$

Later we will determine the asymptotic behavior of $P(M(t)<T)$ as $t \rightarrow \infty$. Note that

$$
P(M(t)<T)=E\left(\bar{F}_{T}(M(t))\right),
$$

where $\bar{F}_{T}(t)=1-F_{T}(t)=P(T>t)$.
Q2. What happens with the subordinator during the life period? In this case we study probabilities of the form

$$
P(M(t) \leq x \mid M(t)<T) .
$$

For an appropriate normalizing function $K(t)$, we will obtain the detailed asymptotic behaviour of

$$
U_{t}(x)=P(M(t) \leq K(t) x \mid M(t)<T) .
$$

Clearly we have

$$
1-U_{t}(x)=\frac{P(M(t)>K(t) x, M(t)<T)}{P(M(t)<T)}
$$

and we see that problem $Q 2$ is related to problem $Q 1$.
In particular, one can consider $Z(n)$ as a Galton-Watson branching process in subcritical or critical case. (See e.g. Athreya and Ney (1972)). In these two cases the branching process evolves until reaching the state zero, i.e. it degenerates with probability one at random time $T$. The asymptotic of the probability for non-extinction and the limiting distributions are of the main interest for the branching processes. Let us remember that the limiting distributions are non degenerate only conditionally on the event $\{T>n\}=\{$ the process does not degenerate at time $n\}$. In case of the random time changed branching process $Z(M(t))$ this event becomes $\{T>M(t)\}$ and the solutions of the questions $Q 1$ and $Q 2$ relate to the probability of non extinction and the limiting distribution of this process.

The paper is organized as follows. Section 2 contains some results from weighted renewal theory which are used later. In section 3 we study the event $\{M(t)>T\}$ and use results form weighted renewal theory to obtain the asymptotic behaviour of $P(M(t)>T)$ under various conditions on (the distribution of) $\mathbf{X}$ and $T$.

In section 4 we study the asymptotic behaviour of $U_{t}(x)=P(M(t) \leq K(t) x \mid M(t)<T)$. We finish the paper with some concluding remarks.

In this paper we shall assume that $\mu=E(X)=\infty$. In the case where $\mu<\infty$, it is well-known that $M(t) / t \rightarrow 1 / \mu$ and for this case there are many papers cf. Alsmeyer (1992), Omey and Teugels (2002), Mallor and Omey (2006) that give conditions under which

$$
P(M(t)<T)=E\left(\bar{F}_{T}(M(t))\right) \sim \bar{F}_{T}(t / \mu)
$$

We treat the more complicated case where $\mu=\infty$. As for the random variable $T$, we consider the two cases where either $E(T)<\infty$ or $E(T)=\infty$.

## 2 Weighted renewal theory

### 2.1 Notations

Let $X_{1}, X_{2}, \ldots$ denote i.i.d. positive r.v. with distribution function $F(x)=P\left(X_{i} \leq x\right)$. Let $a_{k}, k \geq 0$ denote a sequence of weights.

Now consider the weighted renewal function (wrf) $G(x)$ defined as follows:

$$
G(x)=\sum_{k=0}^{\infty} a_{k} F^{* k}(x)
$$

where, as usual, $F^{* k}($.$) means the k$-fold convolution of the d.f. $F($.$) .$
The wrf $G(x)$ has a useful interpretation as an expectation. To see this, we define the function $A(x)$ as follows: $A(x)=a_{0}+a_{1}+\ldots+a_{[x]}, x \geq 0$. In this case we have $G(x)=E(A(M(x)))$, where $M(x)$ denotes the renewal counting measure defined above. Conversely, for any function $A(x)$ we have

$$
E(A(M(x)))=\sum_{k=0}^{\infty} a_{k} F^{* k}(x),
$$

where $a_{0}=A(0)$ and $a_{k}=A(k)-A(k-1), k \geq 1$.

### 2.2 Asymptotic behaviour of $G(t)$

In the case where $\mu=\infty$, it makes sense to assume that the tail distribution $\bar{F}(x)$ is regularly varying. The motivation is in the following result. To formulate the result, define the integrated tail

$$
m(x)=\int_{0}^{x} \bar{F}(t) d t
$$

and let $K(x)=x / m(x)$. Note that if $\mu<\infty$, we have $K(x) \sim x / \mu$.
Proposition 1 (Mallor and Omey (2006), Theorems 6 and 9) (i) If $m(x) \in R V(1-\alpha)$, with $0<\alpha \leq 1$, then

$$
\frac{M(t)}{K(t)} \Longrightarrow L^{-\alpha}(\alpha)
$$

where for $0<\alpha<1, L(\alpha)$ is an $\alpha$-stable law with $E\left(\exp (-s L(\alpha))=\exp \left(-\Gamma(2-\alpha) s^{\alpha}\right)\right.$ and where $L(1)$ is degenerate at 1 .
(ii) If $m(x) \in R V(1-\alpha)$, with $0<\alpha<1$, then for all $r \geq 0$, $(M(t) / K(t))^{r}$ is uniformly integrable and

$$
E\left(\frac{M(t)}{K(t)}\right)^{r} \rightarrow E\left(L^{-\alpha r}(\alpha)\right)
$$

Here and later $\Longrightarrow$ means convergence in distribution.
In Mallor and Omey (2006), the asymptotic behaviour of $G(t)=E(A(M(t)))$ is determined in case where $A(\infty)=G(\infty)=\infty$. (See also Embrechts and Omey (1983)).

Proposition 2 (Mallor and Omey (2006), Theorem 43) Suppose $0<\alpha \leq 1$ and $\rho>0$. Each two of the following statements ( $a, b, c$ ) implies the third statement and (d).
(a) $A(x) \in R V(\rho)$;
(b) $m(x) \in R V(1-\alpha)$;
(c) $G(x) \in R V(\alpha \rho)$;
(d) $G(x) / A(K(x)) \rightarrow D(\alpha, \rho)=(\Gamma(2-\alpha))^{-\rho} \Gamma(1+\rho) / \Gamma(1+\alpha \rho)$.

Moreover we have the following implications
(i) (a) with $\rho \geq 0$ and (b) with $0 \leq \alpha \leq 1$ imply (c) and (d).
(ii) (a) with $\rho>0$ and (c) imply (b) and (d).
(iii) (b) with $0<\alpha \leq 1$ and (c) with $\rho \geq 0$ imply (a) and (d).

Remark 1 (1) In view of Proposition 1, we have $D(\alpha, \rho)=E\left(L^{-\alpha \rho}(\alpha)\right), \rho \geq 0$.
(2) If $A(x) \in R V(0)$, then $m(x) \in R V(1-\alpha), 0<\alpha \leq 1$, implies that $G(x) \in R V(0)$ and $G(x) \sim W(K(x))$.

Remark 2 Proposition 2 concerns the extension of the Elementary Renewal Theorem for the weighted renewal functions in the infinite mean case. It was proved by Omey in his PhD dissertation Omey (1982). An extension of the Blackwell's Theorem for the weighted renewal functions in the infinite mean case was proved by Anderson and Athreya (1988), Theorem 2. Their proof used an extension of the Key Renewal Theorem
in the infinite mean case (Theorem 1) and the assertions of Proposition 2, given there as Theorem D. Let us note that the strongest form of the Key Renewal Theorem in the infinite mean case was proved also by Anderson and Athreya (1987).

## 3 Asymptotic behaviour of $P(M(t)<T)$

In this section we discuss the asymptotic behaviour of $G(t)=P(M(t)<T)$ assuming the more general situation where $T$ is a positive, but not mandatory integer valued, r.v. independent of $\left\{X_{k}\right\}$. Clearly we have the following identity:

$$
G(t)=E\left(\bar{F}_{T}(M(t))\right) .
$$

We suppose that $\bar{F}_{T}(x) \in R V(-\beta)$ and consider several cases.
Using the lemma of Fatou and Proposition 1, we see that

$$
\lim \inf \frac{G(t)}{\bar{F}_{T}(K(t))} \geq E\left(L^{\alpha \beta}(\alpha)\right)
$$

Using $P(L(\alpha)>x) \sim x^{-\alpha}$, we have $P\left(L^{\alpha \beta}(\alpha)>x\right) \sim x^{-1 / \beta}$ and we obtain for $\beta \geq 1$ that

$$
\begin{equation*}
\lim \frac{G(t)}{\bar{F}_{T}(K(t))}=\infty . \tag{1}
\end{equation*}
$$

Clearly we should compare $G(t)$ with another function.
3.1 The case $\beta \geq 1$ and $E(T)<\infty$

If $\beta \geq 1$ and $E(T)<\infty$, we proceed as follows. We clearly have

$$
\begin{aligned}
G(t) & =\sum_{n=0}^{\infty} P(M(t)<T, T=n)+\sum_{n=0}^{\infty} P(M(t)<T, n<T<n+1) \\
& =\sum_{n=2}^{\infty} P(M(t) \leq n-1, T=n)+\sum_{n=1}^{\infty} P(M(t) \leq n, n<T<n+1) \\
& =\sum_{n=2}^{\infty} P(M(t) \leq n-1) P(T=n)+\sum_{n=1}^{\infty} P(M(t) \leq n) P(n<T<n+1) \\
& =\sum_{n=2}^{\infty} P\left(S_{n-1}>t\right) P(T=n)+\sum_{n=1}^{\infty} P\left(S_{n}>t\right) P(n<T<n+1) .
\end{aligned}
$$

Now $\bar{F}(x) \in R V(-\alpha)$ implies that $P\left(S_{n}>t\right) / \bar{F}(t) \rightarrow n, n \geq 1$. We need the following result

Lemma 1 (i) For each $n \geq 1, \overline{F^{* n}}(x) \leq n m(x) / x$.
(ii) If $\bar{F}(x) \in R V(-\alpha), 0 \leq \alpha<1$ then $m(x) \sim x \bar{F}(x) /(1-\alpha)$.

## Proof.

(i) See Daley et al. (2007), Lemma 5).
(ii) This is a standard result in regular variation, cf. Bingham et al. (1987).

From Lemma 1, it follows that for $0 \leq \alpha<1$ we have $P\left(S_{n}>t\right) \leq C n \bar{F}(t)$. If $E([T])<$ $\infty$, Lebesgue's theorem can be applied twice, and we obtain that

$$
\begin{aligned}
\frac{G(t)}{\overline{\bar{F}(t)}} & \rightarrow \sum_{n=2}^{\infty}(n-1) P(T=n)+\sum_{n=1}^{\infty} n P(n<T<n+1) \\
& =E([T])-P(T \in\{1,2, \ldots\}) \\
& =E([T])-P\left(T \in \mathbb{N}_{0}\right)
\end{aligned}
$$

As usual $[T]$ is the integer part of $T$.
Remark 3 (1) If $0 \leq \alpha<1$ we have $\bar{F}(x) K(x)=\bar{F}(x) x / m(x) \sim 1-\alpha$. Using $\bar{F}_{T}(x) \in R V(-\beta)$, we obtain that

$$
\bar{F}_{T}(K(t)) \sim c \bar{F}_{T}(1 / \bar{F}(t)) .
$$

Since $E(T)<\infty$, it follows that

$$
\lim \frac{\bar{F}_{T}(K(t))}{\bar{F}(t)}=\lim x \bar{F}_{T}(x)=0
$$

This explains why (1) holds.
(2) In case where $T$ is positive, integer valued one gets

$$
\frac{G(t)}{\bar{F}(t)} \rightarrow E(T-1), \quad t \rightarrow \infty
$$

3.2 The case $\beta \leq 1$ and $E(T)=\infty$

In this case we proceed in a different way. We write $G(t)=\bar{U}(t)=1-U(t):=1-P(T \leq$ $M(t))$. Using the definition of $M(t)$, we see that

$$
\begin{aligned}
U(t) & =\sum_{k=1}^{\infty} P(T \leq k) P(M(t)=k) \\
& =\sum_{k=1}^{\infty} \sum_{i=0}^{k-1} P(i<T \leq i+1) P(M(t)=k) \\
& =\sum_{i=0}^{\infty} P(i<T \leq i+1) P(M(t)>i) \\
& =\sum_{i=0}^{\infty} a_{i} P\left(S_{i} \leq t\right),
\end{aligned}
$$

where $a_{i}=P(i<T \leq i+1)$. Since (cf. section 2) $A(x) \uparrow 1$, the results of Section 2 are not directly applicable. We proceed as follows.

Using Laplace transforms, we have (similar notations are used for $U$ ):

$$
\widehat{F}(s)=\int_{0}^{\infty} e^{-s x} d F(x), \quad m_{F}(x)=\int_{0}^{x} \bar{F}(t) d t, \quad \widehat{m}_{F}(s)=\frac{1-\widehat{F}(s)}{s} .
$$

Note that since $\bar{F}$ is not increasing, we always have $x \bar{F}(x) \leq m_{F}(x) \leq x$. Using these notations, we obtain that

$$
\widehat{U}(s)=\sum_{k=0}^{\infty} a_{k}(\widehat{F}(s))^{k}
$$

Since $\left\{a_{k}, k=0,1,2, \ldots\right\}$ is a probability distribution, we also have

$$
1-\widehat{U}(s)=\sum_{k=1}^{\infty} a_{k}\left(1-(\widehat{F}(s))^{k}\right)
$$

and then

$$
\frac{\widehat{m}_{U}(s)}{\widehat{m}_{F}(s)}=\frac{1-\widehat{U}(s)}{1-\widehat{F}(s)}=\sum_{k=0}^{\infty} w_{k}(\widehat{F}(s))^{k}=\widehat{H}(s),
$$

where

$$
w_{k}=\sum_{i=k+1}^{\infty} a_{i}=P(T>k+1) \text { and } H(x)=\sum_{k=0}^{\infty} w_{k} F^{* k}(x) .
$$

It follows that

$$
\begin{equation*}
\widehat{m}_{U}(s)=\widehat{H}(s) \widehat{m}_{F}(s) \tag{2}
\end{equation*}
$$

where $\widehat{H}(s)=\sum_{k=0}^{\infty} w_{k}(\widehat{F}(s))^{k}$. Since $E(T)=\infty$, we can treat $H(x)$ as in Proposition 2. To this end, let $W(x)=\sum_{k=0}^{[x]} w_{k}$ and as before, let $K(x)=x / m_{F}(x)$.

Note that if $\bar{F}_{T}(t) \in R V(-\beta), \beta<1$, then

$$
W(x) \sim x \bar{F}_{T}(x) /(1-\beta) \in R V(\rho),
$$

where $\rho=1-\beta$.
If $\bar{F}_{T}(t) \in R V(-1)$ then

$$
W(x) \in R V(0) \text { and } x \bar{F}_{T}(x)=o(W(x)) \text { as } x \rightarrow \infty .
$$

The following result follows from Proposition 2.
Proposition 3 Suppose $0<\alpha<1$ and $\rho=1-\beta \geq 0$. If $W(x) \in R V(\rho)$ and $\bar{F}(x) \in$ $R V(-\alpha)$, then $H(x) \in R V(\rho \alpha)$ and $H(x) \sim D(\alpha, \rho) W(K(x))$.

In our application we need to find the asymptotic behaviour of $\bar{U}(x)$. Relation (2) plays a central role. Proposition 3 shows that

$$
H(x) \sim D(\alpha, 1-\beta) W(K(x)) \in R V(\alpha(1-\beta))
$$

and by Karamata's theorem we have

$$
\widehat{H}(1 / x) \sim H(x) \Gamma(1+(1-\beta) \alpha)
$$

Also $\bar{F}(x) \in R V(-\alpha)$ implies that $m_{F}(x) \sim x \bar{F}(x) /(1-\alpha) \in R V(1-\alpha)$ and then

$$
\widehat{m}_{F}(1 / x) \sim m_{F}(x) \Gamma(2-\alpha) \sim x \bar{F}(x) \Gamma(1-\alpha) .
$$

Using (2) one gets $\widehat{m}_{U}(1 / x) \in R V(2-\alpha(1-\rho))$ and then also

$$
\widehat{m}_{U}\left(\frac{1}{x}\right) \sim m_{U}(x) \Gamma(2-\alpha \beta) .
$$

Therefore

$$
m_{U}(x) \Gamma(2-\alpha \beta) \sim \Gamma(1-\alpha) \Gamma(1+(1-\beta) \alpha) x \bar{F}(x) H(x) .
$$

Using the monotone density theorem, we find that $m_{U}(x) \sim x \bar{U}(x) /(1-\alpha \beta)$ and then

$$
\bar{U}(x) \Gamma(1-\alpha \beta)) \sim \Gamma(1-\alpha) \Gamma(1+(1-\beta) \alpha) \bar{F}(x) H(x) .
$$

Using the relation $H(x) \sim D(\alpha, 1-\beta) W(K(x))$ one gets

$$
\begin{equation*}
\bar{U}(x) \Gamma(1-\alpha \beta)) \sim \Gamma(1-\alpha) \Gamma(1+(1-\beta) \alpha) D(\alpha, 1-\beta) \bar{F}(x) W(K(x)) . \tag{3}
\end{equation*}
$$

To simplify further, we have to consider the cases $0<\beta<1$ and $\beta=1$ separately.
If $0<\beta<1$ then from $W(x) \sim x \bar{F}_{T}(x) /(1-\beta)$ we obtain

$$
H(x) \sim D(\alpha, 1-\beta) \frac{1}{1-\beta} K(x) \bar{F}_{T}(K(x))
$$

and then

$$
\begin{aligned}
& \bar{U}(x) \Gamma(1-\alpha \beta) \\
\sim & D(\alpha, 1-\beta) \frac{1}{1-\beta} \Gamma(1-\alpha) \Gamma(1+\alpha(1-\beta)) \bar{F}(x) K(x) \bar{F}_{T}(K(x)) \\
\sim & D(\alpha, 1-\beta) \frac{1}{1-\beta} \Gamma(2-\alpha) \Gamma(1+\alpha(1-\beta)) \bar{F}_{T}(K(x)) .
\end{aligned}
$$

Using the expression for $D(\alpha, 1-\beta)$, one obtains that

$$
\frac{\bar{U}(t)}{\bar{F}_{T}(K(t))} \rightarrow \frac{(\Gamma(2-\alpha))^{\beta} \Gamma(1-\beta)}{\Gamma(1-\alpha \beta)}=E\left(L^{\alpha \beta}(\alpha)\right) .
$$

If $\beta=1$ then we have from (3) that

$$
\bar{U}(x) \Gamma(1-\alpha) \sim \Gamma(1-\alpha) \Gamma(1) D(\alpha, 0) \bar{F}(x) W(K(x)) .
$$

Using that $D(\alpha, 0)=1, K(x) \sim(1-\alpha) / \bar{F}(x)$ and $W(x) \in R V(0)$ we get

$$
\bar{U}(x) \sim D(\alpha, 0) \bar{F}(x) W(K(x)) \sim \bar{F}(x) W(1 / \bar{F}(x))
$$

Therefore

$$
\frac{\bar{U}(t)}{\bar{F}(t) W(1 / \bar{F}(t))} \rightarrow 1
$$

### 3.3 Limit Theorem

We summarize our findings in the following theorem.
Theorem 1 Suppose that $\bar{F}(x) \in R V(-\alpha), 0 \leq \alpha<1$ and $\bar{F}_{T}(x) \in R V(-\beta), \beta \geq 0$.
(i) If $\beta \geq 1$ and $E(T)<\infty$, then

$$
\frac{G(t)}{\bar{F}(t)} \rightarrow E([T])-P\left(T \in \mathbb{N}_{0}\right)
$$

(ii) If $\beta<1$ and $E(T)=\infty$, then

$$
\frac{G(t)}{\bar{F}_{T}(K(t))} \rightarrow \frac{(\Gamma(2-\alpha))^{\beta} \Gamma(1-\beta)}{\Gamma(1-\alpha \beta)}=E\left(L^{\alpha \beta}(\alpha)\right) .
$$

(iii) If $\beta=1$ and $E(T)=\infty$, then

$$
\frac{G(t)}{\bar{F}(t) W(1 / \bar{F}(t))} \rightarrow 1
$$

## 4 Asymptotic behaviour of $U_{t}(x)$

In this section we discuss the asymptotic behaviour of $U_{t}(x)$, where

$$
U_{t}(x)=P(M(t) \leq K(t) x \mid M(t)<T)
$$

Denote by $I\{$.$\} the indicator of the event \{$.$\} . The following theorem holds.$
Theorem 2 Suppose $\bar{F}(t) \in R V(-\alpha), 0<\alpha<1$ and $\bar{F}_{T}(t) \in R V(-\beta)$.
(i) If $\beta<1$ and $E(T)=\infty$, we have

$$
U_{t}(x) \rightarrow \frac{E\left(L^{\alpha \beta}(\alpha) I\left\{L^{-\alpha}(\alpha) \leq x\right\}\right)}{E\left(L^{\alpha \beta}(\alpha)\right)}
$$

(ii) If $\beta \geq 1$ we have $U_{t}(x) \rightarrow 1$. Moreover, if $P\left(T \in \mathbb{N}_{0}\right)<E([T])<\infty$ then

$$
\frac{\bar{F}(t)}{\bar{F}_{T}(K(t))}\left(1-U_{t}(x)\right) \rightarrow \frac{1}{\left(E\left([T]-P\left(T \in \mathbb{N}_{0}\right)\right)\right.} E\left(L^{\alpha \beta}(\alpha) I\left\{L^{-\alpha}(\alpha)>x\right\}\right) .
$$

Proof. Clearly we have

$$
1-U_{t}(x)=\frac{P(M(t)>K(t) x, M(t)<T)}{P(M(t)<T)}=\frac{A}{B} .
$$

The numerator $A$ can be written in the following form

$$
A=E\left(\bar{F}_{T}(M(t)) I\{M(t)>K(t) x\}\right)
$$

Since $\bar{F}_{T} \in R V(-\beta)$ is non-increasing, we have

$$
\bar{F}_{T}(M(t)) I\{M(t)>K(t) x\} \leq \bar{F}_{T}(x K(t)) I\{M(t)>K(t) x\}
$$

and

$$
\frac{\bar{F}_{T}(K(t)(M(t) / K(t))}{\bar{F}_{T}(K(t))} \Longrightarrow L^{\alpha \beta}(\alpha)
$$

Lebesgues theorem on dominated convergence shows that

$$
\frac{A}{\overline{F_{T}(K(t))}} \rightarrow E\left(L^{\alpha \beta}(\alpha) I\left\{L^{-\alpha}(\alpha)>x\right\}\right) .
$$

Using Theorem 1, the result now easily follows.

## 5 Concluding remarks

- If $\rho=0$, Proposition 2 shows that $G(x) \sim W(K(x))$. Using the class $\Pi$, Theorem 45 of Mallor and Omey (2006) can be used to obtain an estimate for the difference $G(x)-W(K(x))$. Using (2) this result, in the case $\beta=0$, leads to an estimate for the difference $m_{U}(x)-H(x) m_{F}(x)$. It would be interesting to see how this leads to an estimate of $G(t)-\bar{F}_{T}(K(t))$.
- Some of the results can be extended into the multivariate case. In the bivariate case we consider weighted renewal function of the form

$$
G(x, y)=\sum_{n=0}^{\infty} a_{n} F^{* n}(x, y)
$$

and its interpretation in terms of renewal counting processes. In the finite means case, Mallor et al. (2007) extended the univariate results of Omey and Teugels (2002).

- The results of this paper can be used in the context of shock models. Imagine a system that is subject to shocks that appear with i.i.d. inter-shock times $X_{1}, X_{2}, \ldots$. The shocks cause i.i.d. damage $D_{1}, D_{2}, \ldots$ The system fails if the total damage exceeds a critical value $K$, i.e. the system fails at time $T$ given by

$$
T=\min \left\{k: D_{1}+D_{2}+\ldots+D_{k}>K\right\}
$$

Since the number of shocks up to time $t$ is given by $M(t)$, we can use our results to discuss $P(M(t)<T)$ and related quantities.

Acknowledgement The authors wish to thank the anonymous referee and the editor for their valuable suggestions and comments on the earlier versions of the paper. Part of this paper was written while the first author visited the faculty of Mathematics and Informatics of the Sofia University "St. Kliment Ohridski" (Sofia, Bulgaria). G.K. Mitov and K.V. Mitov are partially supported by the grant VU-MI-105/20-05 (NSF- Bulgaria).

## References

Alsmeyer, G., 1992. On generalized renewal measures and certain first passage times. Ann. Prob. 20, 1229-1247.
Athreya, K.B., and Ney, P.E., 1972. Branching Processes. Springer, Berlin.
Anderson, K.K., and Athreya, K.B., 1987. A renewal theorem in the infinite mean case. The Annals of Prob. 15, 388-393.
Anderson, K.K., and Athreya, K.B., 1988. A strong renewal theorem for generalized renewal functions in the infinite mean case. Probab. Th. Rel. Fields. 77, 471-479.
Bingham, N.H., Goldie, C.M., and Teugels, J.L., 1987. Regular Variation. Encyclopedia of Mathematics and its Applications, Cambridge University Press.
Daley, D.J., Omey, E., and Vesilo, R., 2007. The tail behaviour of a random sum of subexponential random variables and vectors. Extremes 10, 21-39.

Embrechts, P., and Omey, E., 1983. On subordinated distributions and random record processes. Math. Proc. Camb. Phil. Soc. 93, 339-353.
Mallor, F., and Omey, E., 2006. Univariate and multivariate weighted renewal theory. Coleccion Monografias Departamento de Estadistica e Investigacion Operative 2. Public University of Navarre, Pamplona.
Mallor, F., Omey, E., and Santos, J., 2007. Multivariate weighted renewal functions. J. of Multivariate Analysis 98, 30-39.
Omey, E., 1982. Multivariate regular variation and its applications in probability theory. Ph.D. dissertation, University of Leuven.
Omey, E., and Teugels, J.L., 2002. Weighted renewal functions: a hierarchical approach. Adv. Appl. Prob. 34, 394-415.


[^0]:    * Corresponding author: Faculty of Aviation, 5856 D. Mitropolia, Pleven, BULGARIA. email: kmitov@af-acad.bg

